Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.yu/faac

Functional Analysis, Approximation and Computation 3:1 (2011), 9–18

**Operator equations**  $ABA = A^2$  and  $BAB = B^2$ 

#### B. P. Duggal

#### Abstract

If  $A, B \in B(\mathcal{X})$  are Banach space operators (i.e., bounded linear transformations) such that  $ABA = A^2$  and  $BAB = B^2$ , then any one of A, AB, BA and B has the single-valued extension property, or property  $(\beta)_{\epsilon}$ , or Bishop's property  $(\beta)$ , or the decomposition property  $(\delta)$ , implies they all have the property. Furthermore, they all have the same left (right) spectrum, the spectrum, upper (lower) Fredholm spectrum, essential spectrum, Browder spectrum, Weyl spectrum, Browder essential approximate point spectrum and Drazin spectrum.

# 1 Introduction

Given Banach space operators  $A, B \in B(\mathcal{X})$ , or more generally  $A \in B(\mathcal{X}, \mathcal{Y})$ and  $B \in B(\mathcal{Y}, \mathcal{X})$ , the common spectral properties of the operators AB and BA have been studied by a number of authors [3, 4, 5, 15]. It is known that the non-zero points of the spectrum, and a number of its more distinguished parts, are the same for AB and BA. With additional structure, in particular if  $A, B \in B(\mathcal{X}), ABA = A^2$  and  $BAB = B^2$ , it is possible to relate the spectrum of A and B, and some of its distinguished parts, to that of AB and BA. A study to this effect has been carried out by Schmoeger [13, 14, 15]. Thus  $\sigma_x(A) \setminus \{0\} =$  $\sigma_x(AB) \setminus \{0\} = \sigma_x(BA) \setminus \{0\} = \sigma_x(B) \setminus \{0\}$ , where  $\sigma_x$  stands for either of the point spectrum  $\sigma_p$  or the approximate point spectrum  $\sigma_a$  or the the residual spectrum  $\sigma_r$  or the continuous spectrum  $\sigma_c$ ; furthermore, the operators A, AB, BA and B have the same spectrum and the same (Fredholm) essential spectrum [14].

In this paper we apply techniques from *local spectral theory* to prove that if  $ABA = A^2$  and  $BAB = B^2$  for some operators  $A, B \in B(\mathcal{X})$ , then any one of A, AB, BA and B has the single-valued extension property (SVEP),

<sup>2010</sup> Mathematics Subject Classifications. Primary 47A10, 47A11, 47A62. Secondary 47A05.

Key words and Phrases. Banach space; SVEP; spectrum; Fredholm; property  $(\beta)_{\epsilon}$ ; Drazin spectrum.

Received: September 14, 2010

Communicated by Dragan S. Djordjević

or Bishop's property  $(\beta)$ , or the decomposition property  $(\delta)$ , or the Eschmeier– Putinar–Bishop property  $(\beta)_{\epsilon}$  at a point, implies they all have the property at the point. Using the Sadovskii/Buoni, Harte, Wickstead construction, we prove that  $\sigma_x(A) = \sigma_x(AB) = \sigma_x(BA) = \sigma_x(B)$ , where  $\sigma_x$  is either of the upper Fredholm spectrum, lower Fredholm spectrum, Fredholm essential spectrum, left spectrum, right spectrum, the spectrum, the Browder spectrum, the Weyl spectrum, the Browder essential approximate point spectrum and the Weyl essential approximate point spectrum. The ascent spectrum, the descent spectrum and the Drazin spectrum are also considered.

In the following, A and B shall denote operators in  $B(\mathcal{X})$  such that  $ABA = A^2$  and  $BAB = B^2$ . Evidently  $0 \notin \sigma(A) \cap \sigma(B)$  implies A = B is the identity operator I; hence, we shall assume in the following that  $0 \in \sigma(A) \cap \sigma(B)$ . Most of our terminology is standard, and we refer the reader to [1, 9, 10, 11] for any unexplained terminology. In the following,  $\lambda$  and  $\mu$  (etc.) shall denote complex numbers; we write  $T - \lambda$  for  $T - \lambda I$ .

# 2 Results

An operator  $T \in B(\mathcal{X})$  has the single-valued extension property at a point  $\lambda_0$ , SVEP at  $\lambda_0$ , if for every open disc  $\mathcal{D}$  centered at  $\lambda_0$  the only analytic function  $f: \mathcal{D} \longrightarrow \mathcal{X}$  satisfying  $(T - \lambda)f(\lambda) = 0$  is the function  $f \equiv 0$ ; T has SVEP if it has SVEP everywhere. Recall, [4], that for every  $S, T \in B(\mathcal{X}), ST$  has SVEP at a point if and only if TS has SVEP at the point. Let  $\sigma_{SVEP}(T) = \{\lambda \in \mathbb{C} : T \text{ does not have SVEP at } \lambda\}$  denote the SVEP spectrum of T. Observe that  $\sigma_{SVEP}(T)$  may be empty.

**Theorem 2.1.**  $\sigma_{SVEP}(A) = \sigma_{SVEP}(AB) = \sigma_{SVEP}(BA) = \sigma_{SVEP}(B).$ 

*Proof.* The equivalence AB has SVEP at a point  $\mu \iff BA$  has SVEP at  $\mu$  holds for all  $A, B \in B(\mathcal{X})$  [4]. We prove that A has SVEP at  $\mu \iff AB$  has SVEP at  $\mu$ ; the equivalence B has SVEP at  $\mu \iff BA$  has SVEP at  $\mu$  is similarly proved. Let  $\mathcal{U}$  be an open neighbourhood of  $\mu$  and  $f : \mathcal{U} \longrightarrow \mathcal{X}$  an analytic function such that  $(A - \lambda)f(\lambda) = 0$  in  $\mathcal{U}$ . Then

$$(A^2 - \lambda A)f(\lambda) = 0 \iff A^2 f(\lambda) = \lambda A f(\lambda) = \lambda^2 f(\lambda)$$
 in  $\mathcal{U}$ ,

and so

$$AB(A-\lambda)f(\lambda) = 0 \Longrightarrow (A^2 - \lambda AB)f(\lambda) = 0 \Longrightarrow (AB - \lambda)(-\lambda f(\lambda)) = 0 \text{ in } \mathcal{U}.$$

Thus, if AB has SVEP at  $\mu$ , then  $\lambda f(\lambda) = 0 \implies f(\lambda) = 0$  for all  $\lambda$  in  $\mathcal{U}$ , implies A has SVEP at  $\mu$ . Conversely, assume that A has SVEP at  $\mu$  and let  $g: \mathcal{U} \longrightarrow \mathcal{X}$  be an analytic function such that  $(AB - \lambda)g(\lambda) = 0$  in  $\mathcal{U}$ . Then

$$AB(AB - \lambda) = 0 \iff (A^2B - \lambda AB)g(\lambda) = (A - \lambda)ABg(\lambda) = 0 \text{ in } \mathcal{U}$$
$$\implies ABg(\lambda) = 0 \implies \lambda g(\lambda) = 0 \text{ in } \mathcal{U} \implies g(\lambda) = 0 \text{ in } \mathcal{U}.$$

This implies that A has SVEP at  $\mu$ .  $\Box$ 

A part of the following theorem has been proved by Schmoeger [14, Corollary 2.11] using a different argument: we prove our result using Theorem 2.1 and a construction of Sadovskii/Buoni, Harte and Wickstead [11, Page 159] (which leads to a representation of the Calkin algebra  $B(\mathcal{X})/\mathcal{K}(\mathcal{X})$  as an algebra of operators on a suitable Banach space). Recall, [1, Corollary 2.24], that a surjective operator is invertible if and only if it has SVEP at 0. In particular:

**Lemma 2.2.** If  $T \in B(\mathcal{X})$  is left invertible and  $T^*$  has SVEP at 0, then T is invertible.

We shall require the following lemma.

Lemma 2.3. The implications

$$(A - \lambda)^{-1}(0) = \{0\} \iff (AB - \lambda)^{-1}(0) = \{0\}$$
$$\iff (BA - \lambda)^{-1}(0) = \{0\} \iff (B - \lambda)^{-1}(0) = \{0\}$$

hold for all  $\lambda$ .

*Proof.* The proof is quite elementary: we start by proving that if  $\lambda \neq 0$ , then  $(A - \lambda)^{-1}(0) = \{0\} \Longrightarrow (BA - \lambda)^{-1}(0) = \{0\} \Longrightarrow (AB - \lambda)^{-1}(0) = \{0\} \Longrightarrow (B - \lambda)^{-1}(0) = \{0\} \Longrightarrow (A - \lambda)^{-1}(0) = \{0\}.$ 

If  $(A - \lambda)^{-1}(0) = \{0\}$  and  $(BA - \lambda)x = 0$  for some  $(0 \neq)x \in \mathcal{X}$ , then the following implications hold:

$$0 = A(BA - \lambda)x = (A - \lambda)Ax \Longrightarrow Ax = 0 \Longrightarrow BAx = \lambda x = 0 \Longrightarrow x = 0.$$

If  $(BA - \lambda)^{-1}(0) = \{0\}$  and  $(AB - \lambda)y = 0$  for some  $(0 \neq)y \in \mathcal{X}$ , then

$$\begin{split} 0 &= AB(AB - \lambda)y = (A - \lambda)ABy = \lambda(A - \lambda)y \Longrightarrow (A - \lambda)y = 0\\ \Longrightarrow \quad 0 &= B^2(A - \lambda)y = (B^2A - \lambda BAB)y = (B^2A - \lambda^2B)y = \lambda(BA - \lambda)By\\ \Longrightarrow \quad By &= 0 \Longrightarrow ABy = \lambda y = 0 \Longrightarrow y = 0. \end{split}$$

Again, if  $(AB - \lambda)^{-1}(0) = \{0\}$  and  $(B - \lambda)z = 0$  for some  $(0 \neq)z \in \mathcal{X}$ , then

$$0 = (AB^2 - \lambda AB)z = (AB - \lambda)ABz \Longrightarrow ABz = 0 \Longrightarrow 0 = BABz$$
$$= B^2 z = \lambda^2 z \Longrightarrow z = 0.$$

Finally, if  $(B - \lambda)^{-1}(0) = \{0\}$  and  $(A - \lambda)t = 0$  for some  $(0 \neq)t \in \mathcal{X}$ , then

$$0 = BA(A - \lambda)t = (B - \lambda)BAt \Longrightarrow BAt = 0 \Longrightarrow 0 = ABAt = A^{2}t$$
$$= \lambda^{2}t \Longrightarrow t = 0.$$

Now let  $\lambda = 0$ . Evidently,  $(BA)^{-1}(0) = \{0\}$  (resp.,  $(AB)^{-1}(0) = \{0\}$ ) implies  $A^{-1}(0) = \{0\}$  (resp.,  $B^{-1}(0) = \{0\}$ ); if  $A^{-1}(0) = \{0\}$  (resp.,  $B^{-1}(0) = \{0\}$ ), then  $ABA = A^2$  (resp.,  $BAB = B^2$ ) implies  $(BA)^{-1}(0) = \{0\}$  (resp.,  $(AB)^{-1}(0) = \{0\}$ ). Hence  $(BA)^{-1}(0) = \{0\} \iff A^{-1}(0) = \{0\}$  and  $(AB)^{-1}(0) = \{0\}$ 

 $\{0\} \iff B^{-1}(0) = \{0\}$ . Assume now that  $(AB)^{-1}(0) = \{0\}$ . Then it follows from the implications

$$(AB)(AB-B) = (AB)^2 - AB^2 = 0 \Longrightarrow AB = B \Longrightarrow AB(B-I) = AB^2 - AB = 0$$

that B = I = AB = A = BA. A similar argument show that if  $(BA)^{-1}(0) = \{0\}$ , then (again) B = I = AB = A = BA.  $\Box$ 

The proof of Lemma 2.2 shows that the only way 0 can fail to be in the spectrum of AB and BA is if 0 is not in the point spectrum of A or B. Evidently, the operators A, B, AB and BA have the same point spectrum; an appeal to the Berberian–Quigley extension theorem [10, Page 255] shows that they also have the same approximate point spectrum. As we shall see later, they (also) have the same spectrum.

The Sadovskii/Buoni, Harte, Wickstead construction [11] may be summarized as follows. Let  $\ell^{\infty}(\mathcal{X})$  denote the Banach space of all bounded sequences  $x = (x_n)_{n=1}^{\infty}$  of elements of  $\mathcal{X}$  endowed with the norm  $||x||_{\infty} := \sup_{n \in \mathbb{N}} ||x_n||$ , and write  $T_{\infty}, T_{\infty}x := (Tx_n)_{n=1}^{\infty}$  for all  $x = (x_n)_{n=1}^{\infty}$ , for the operator induced by T on  $\ell^{\infty}(\mathcal{X})$ . The set  $m(\mathcal{X})$  of all precompact sequences of elements of  $\mathcal{X}$  is a closed subspace of  $\ell^{\infty}(\mathcal{X})$  which is invariant for  $T_{\infty}$ . Let  $\mathcal{X}_q := \ell^{\infty}\mathcal{X})/m(\mathcal{X})$ , and denote by  $T_q$  the operator  $T_{\infty}$  on  $\mathcal{X}_q$ . The mapping  $T \mapsto T_q$  is then a unital homomorphism from  $B(\mathcal{X}) \mapsto B(\mathcal{X}_q)$  with kernel  $\mathcal{K}(\mathcal{X})$  (= the ideal of compact operators) which induces a norm decreasing monomorphism from  $B(\mathcal{X})/\mathcal{K}(\mathcal{X})$ to  $B(\mathcal{X}_q)$  with the following properties (see [11, Section 17] for details):

**Lemma 2.4.** (i) T is upper semi-Fredholm,  $T \in \phi_+$ , if and only if  $T_q$  is injective, if and only if  $T_q$  is bounded below;

(ii) T is lower semi-Fredholm,  $T \in \phi_{-}$ , if and only if  $T_q$  is onto, if and only if  $T_q \in \phi_{-}$ ;

(iii) T is Fredholm,  $T \in \phi$ , if and only if  $T_q$  is invertible.

Let  $\sigma_{SF_+}(T) = \{\lambda \in \mathbb{C} : T - \lambda \notin \phi_+\}$  denote the upper semi–Fredholm spectrum of T,  $\sigma_{SF_-}(T) = \{\lambda \in \mathbb{C} : T - \lambda \notin \phi_-\}$  the lower semi–Fredholm spectrum of T and let  $\sigma_e(T) = \sigma_{SF_+}(T) \cup \sigma_{SF_-}(T)$  denote the (Fredholm) essential spectrum of T.

**Theorem 2.5.**  $\sigma_x(A) = \sigma_x(AB) = \sigma_x(BA) = \sigma_x(B)$ , where  $\sigma_x = \sigma_{SF_+}$  or  $\sigma_{SF_-}$  or  $\sigma_e$ .

*Proof.* We prove the equality of the spectra for the case in which  $\sigma_x = \sigma_{SF_+}$ ; the proof for  $\sigma_{SF_-}$  follows from a duality argument and the proof for  $\sigma_e$  is then a straightforward consequence. Apparently,

$$A_q B_q A_q = A_q^2$$
 and  $B_q A_q B_q = B_q^2$ 

Let  $T - \lambda \in \phi_+$ , where T stands for one of the operators A, AB, BA and B. Then, see Lemma 2.4,  $T_q - \lambda I_q$  is left invertible, in particular injective. This implies by Lemma 2.3 that the operators  $A_q - \lambda I_q$ ,  $A_q B_q - \lambda I_q$ ,  $B_q A_q - \lambda I_q$  Operator Equations  $ABA = A^2$  and  $BAB = B^2$ 

and  $B_q - \lambda I_q$  are all injective, hence all left invertible (by Lemma 2.4). Another application of Lemma 2.4 now proves that  $A - \lambda$ ,  $AB - \lambda$ ,  $BA - \lambda$  and  $B - \lambda$  are all upper semi–Fredholm.  $\Box$ 

Let  $\sigma_{left}(T) = \{\lambda : T - \lambda \text{ is not left invertible}\}$  and  $\sigma_{right}(T) = \{\lambda : T - \lambda \text{ is not right invertible}\}$ . Part of the following corollary appears in [14, Proposition 2.6 and Corollary 2.7]

**Corollary 2.6.**  $\sigma_x(A) = \sigma_x(AB) = \sigma_x(BA) = \sigma_x(B)$ , where  $\sigma_x = \sigma_{left}$  or  $\sigma_{right}$  or  $\sigma$ .

*Proof.* We prove the case  $\sigma_x = \sigma_{left}$ ; the proof for  $\sigma_{right}$  follows from a duality argument, and the proof for  $\sigma$  is a consequence of  $\sigma = \sigma_{left} \cup \sigma_{right}$ . If either of  $A - \lambda$ ,  $AB - \lambda$ ,  $BA - \lambda$  and  $B - \lambda$  is left invertible (hence upper semi–Fredholm and injective), then they are all upper semi–Fredholm and injective, hence left invertible.  $\Box$ 

An operator  $T \in B(\mathcal{X})$  is said to have a generalized Drazin inverse at  $\lambda$  if  $\lambda$  is an accumulation point of  $\sigma(T)$  [6, Theorem 2.2.1]. If we denote the generalized Drazin spectrum of T by  $\sigma_{GD}(T)$ , then it is immediate from Corollary 2.6 that:

Corollary 2.7.  $\sigma_{GD}(A) = \sigma_{GD}(AB) = \sigma_{GD}(BA) = \sigma_{GD}(B).$ 

The ascent (resp., descent) of an operator  $T \in B(\mathcal{X})$ ,  $\operatorname{asc}(T)$  (resp.,  $\operatorname{dsc}(T)$ ), is the least non-negative integer n such that  $T^{-n}(0) = T^{-(n+1)}(0)$  (resp.,  $T^n\mathcal{X} = T^{n+1}\mathcal{X}$ ); if no such integer exists, then  $\operatorname{asc}(T) = \infty$  (resp.,  $\operatorname{dsc}(T) = \infty$ ). Let  $\sigma_a(T)$  denote the approximate point spectrum of T. The Browder, the Weyl, the Browder essential approximate point and the Weyl essential approximate point spectrum of an operator  $T \in B(\mathcal{X})$  are the sets  $\sigma_b(T) = \{\lambda \in \sigma(T) : T - \lambda \notin \phi$ or one of  $\operatorname{asc}(T-\lambda)$  and  $\operatorname{dsc}(T-\lambda)$  is not finite},  $\sigma_w(T) = \{\lambda \in \sigma(T) : T - \lambda \notin \phi$ or  $\operatorname{ind}(T-\lambda) \neq 0\}$ ,  $\sigma_{ab}(T) = \{\lambda \in \sigma_a(T) : T - \lambda \notin \phi_+ \text{ or } \operatorname{asc}(T - \lambda \not < \infty)\}$  and  $\sigma_{aw}(T) = \{\lambda \in \sigma_a(T) : T - \lambda \notin \phi_+ \text{ or } \operatorname{ind}(T - \lambda \neq 0)\}$ , respectively. Recall that  $T - \lambda$  is said to be Weyl (resp., a-Weyl) at  $\lambda$  if  $\lambda \notin \sigma_w(T)$  (resp.,  $\lambda \notin \sigma_{aw}(T)$ ).

**Corollary 2.8.**  $\sigma_x(A) = \sigma_x(AB) = \sigma_x(BA) = \sigma_x(B)$ , where  $\sigma_x = \sigma_b$  or  $\sigma_w$  or  $\sigma_{ab}$  or  $\sigma_{aw}$ .

Proof. Let T represent either of A, AB, BA and B. Recall that  $\operatorname{asc}(T - \lambda) < \infty \implies T$  has SVEP at  $\lambda$ ,  $\operatorname{dsc}(T - \lambda) < \infty \implies T^*$  has SVEP at  $\lambda$ , and if  $\operatorname{asc}(T - \lambda)$  and  $\operatorname{dsc}(T - \lambda)$  are both finite, then (they are equal and) both T and  $T^*$  have SVEP at  $\lambda$  ([1, Theorems 3.3 and 3.8] (see also [9])); recall also that a Fredholm operator  $T - \lambda$  such that both T and  $T^*$  have SVEP at  $\lambda$  satisfies  $\operatorname{asc}(T - \lambda) = \operatorname{dsc}(T - \lambda) < \infty$  [1, Corollary 3.21]. Now apply Theorems 2.5 and 2.1 to prove the equality for the case in which  $\sigma_x = \sigma_b$  or  $\sigma_{ab}$ . To prove the equality of the spectra for the case  $\sigma_x = \sigma_w$  (resp.,  $\sigma_{aw}$ ), we observe that if  $\lambda \notin \sigma_w(T)$  (resp.,  $\lambda \notin \sigma_{aw}(T)$ ) for a choice of T, then  $T - \lambda \in \phi$  (resp.,  $\phi_+$ ) for every choice of T. Recall now from [14, Corollary 2.12] that if  $T - \lambda \in \phi$  for a choice of T, then  $\operatorname{ind}(B - \lambda) = \operatorname{ind}(BA - \lambda) = \operatorname{ind}(B - \lambda)$ . Hence if  $T - \lambda$  is Weyl for a choice of T, then  $A - \lambda$ ,  $AB - \lambda$ ,  $BA - \lambda$  and  $B - \lambda$ 

are all Weyl. If instead  $T - \lambda \in \phi_+$  and  $\operatorname{ind}(T - \lambda) > 0$  for a choice of T, say T', other than the one we started with, then  $T' - \lambda \in \phi \Longrightarrow T - \lambda \in \phi$  and  $\operatorname{ind}(T - \lambda) > 0$  for every choice of T; hence  $A - \lambda$ ,  $AB - \lambda$ ,  $BA - \lambda$  and  $B - \lambda$  are all *a*-Weyl.  $\Box$ 

For a Banach space  $\mathcal{X}$  and open subset  $\mathcal{U}$  of C, let  $\mathcal{E}(\mathcal{U}, \mathcal{X})$  (resp.,  $\mathcal{O}(\mathcal{U}, \mathcal{X})$ ) denote the Fréchet space of all infinitely differentiable  $\mathcal{X}$ -valued functions on  $\mathcal{U}$ endowed with the topology of uniform convergence of all derivatives on compact subsets of  $\mathcal{U}$  (resp., of all analytic  $\mathcal{X}$ -valued functions on  $\mathcal{U}$  endowed with the topology of uniform convergence on compact subsets of  $\mathcal{U}$ ). We say that  $T \in$  $B(\mathcal{X})$  satisfies (Eschmeier–Putinar–Bishop) property ( $\beta$ )<sub> $\epsilon$ </sub> at  $\lambda$  if there exists a neighbourhood  $\mathcal{N}$  of  $\lambda$  such that, for each open subset  $\mathcal{U}$  of  $\mathcal{N}$  and sequence  $\{f_n\}$  of  $\mathcal{X}$ -valued functions in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ ,

$$(T-z)f_n(z) \longrightarrow 0$$
 in  $\mathcal{E}(\mathcal{U}, \mathcal{X}) \Longrightarrow f_n(z) \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ 

[7]; T satisfies (Bishop's) property ( $\beta$ ) at  $\lambda \in C$  if there exists an r > 0 such that, for every open subset  $\mathcal{U}$  of the open disc  $\mathbf{D}(\lambda; r)$  of radius r centered at  $\lambda$  and sequence  $\{f_n\}$  of  $\mathcal{X}$ -valued functions in  $\mathcal{O}(\mathcal{U}, \mathcal{X})$ ,

$$(T-z)f_n(z) \longrightarrow 0$$
 in  $\mathcal{O}(\mathcal{U},\mathcal{X}) \Longrightarrow f_n(z) \longrightarrow 0$  in  $\mathcal{O}(\mathcal{U},\mathcal{X})$ 

[10, Page 11]. Property  $(\beta)_{\epsilon}$  implies property  $(\beta)$  [7]. It is well known that property  $(\beta)$  implies SVEP, and that T satisfies property  $(\beta)$  if and only if  $T^*$ satisfies property  $(\delta)$  [10]. (We shall have no more than a passing interest in the (decomposition) property  $(\delta)$ : the interested reader is invited to consult [10], in particular Definitions 1.2.28.) Let  $\sigma_{(\beta)_{\epsilon}}(T) = \{\lambda \in \mathbb{C} : T \text{ does not satisfy} property <math>(\beta)_{\epsilon}$  at  $\lambda\}$ ,  $\sigma_{(\beta)}(T) = \{\lambda \in \mathbb{C} : T \text{ does not satisfy property } (\beta) \text{ at } \lambda\}$ and  $\sigma_{\delta}(T) = \{\lambda \in \mathbb{C} : T \text{ does not satisfy property } (\delta) \text{ at } \lambda\}.$ 

**Theorem 2.9.**  $\sigma_x(A) = \sigma_x(AB) = \sigma_x(BA) = \sigma_x(B)$ , where  $\sigma_x = \sigma_{(\beta)_{\epsilon}}$  or  $\sigma_{(\beta)}$ .

*Proof.* It is known [4] that  $\sigma_{(\beta)_{\epsilon}}(AB) = \sigma_{(\beta)_{\epsilon}}(BA)$  for all  $A, B \in B(\mathcal{X})$ . We prove:  $\lambda \notin \sigma_{(\beta)_{\epsilon}}(A) \Longrightarrow \lambda \notin \sigma_{(\beta)_{\epsilon}}(AB) \Longrightarrow \lambda \notin \sigma_{(\beta)_{\epsilon}}(BA) \Longrightarrow \lambda \notin \sigma_{(\beta)_{\epsilon}}(B) \Longrightarrow \lambda \notin \sigma_{(\beta)_{\epsilon}}(A)$ .

Thus suppose that  $A - \lambda \in (\beta)_{\epsilon}$  (i.e.,  $\lambda \notin \sigma_{(\beta)_{\epsilon}}(A)$ ) and that  $\{f_n\}$  is a sequence in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$  such that

$$(AB-z)f_n(z) \longrightarrow 0$$
 in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ .

Then

$$AB(AB-z)f_n(z) = (A-z)ABf_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X})$$
$$\implies ABf_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X}).$$

Hence  $zf_n(z)$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ , and so  $f_n(z), \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ . Suppose now that  $BA - z \in (\beta)_{\epsilon}$  and that  $\{g_n\}$  is a sequence in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$  such that

$$(B-z)g_n(z) \longrightarrow 0$$
 in  $\mathcal{E}(\mathcal{U},\mathcal{X})$ .

Operator Equations  $ABA = A^2$  and  $BAB = B^2$ 

Then

$$BA(B-z)g_n(z) = (BA-z)Bg_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X})$$
$$\implies Bg_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X}).$$

Hence  $zg_n(z)$ , so also  $g_n(z)$ ,  $\longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ . Finally suppose that  $B - z \in (\beta)_{\epsilon}$  and that  $\{F_n\}$  is a sequence in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$  such that

$$(A-z)F_n(z) \longrightarrow 0$$
 in  $\mathcal{E}(\mathcal{U},\mathcal{X})$ 

Then

$$BA(A-z)F_n(z) = B(AB-z)AF_n(z) = (B-z)BAF_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X})$$
$$\implies BAF_n(z) \longrightarrow 0 \text{ in } \mathcal{E}(\mathcal{U},\mathcal{X}).$$

But then  $ABAF_n(z) = A^2F_n(z) \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ . Since  $(A - z)F_n(z) \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$  also implies  $(A^2 - zA)F_n(z) \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ , it follows that  $zAF_n(z) \longrightarrow 0 \Longrightarrow AF_n(z) \longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ . Hence  $zF_n(z)$ , so also  $F_n(z)$ ,  $\longrightarrow 0$  in  $\mathcal{E}(\mathcal{U}, \mathcal{X})$ .

The proof for  $\sigma_{(\beta)}$  follows from a similar argument, and then the proof for  $\sigma_{\delta}$  follows from a duality argument.  $\Box$ 

Let  $\sigma_{\rm asc}(T) = \{\lambda : \operatorname{asc}(T-\lambda) = \infty\}$  and  $\sigma_{\rm dsc}(T) = \{\lambda : \operatorname{dsc}(T-\lambda) = \infty\}$ denote the ascent spectrum and the descent spectrum of T, respectively. (We remark here that this definition of the ascent spectrum and the descent spectrum differs from the usual topological definition, wherein one assumes also that  $(T - \lambda)^{\operatorname{asc}(T-\lambda)+1}\mathcal{X}$ , respectively  $(T - \lambda)^{\operatorname{dsc}(T-\lambda)}\mathcal{X}$ , is closed; see, for example [8].) The following theorem shows that A, B, AB and BA have the same non-zero ascent and descent spectrum.

**Theorem 2.10.**  $\sigma_x(A) \setminus \{0\} = \sigma_x(B) \setminus \{0\} = \sigma_x(AB) \setminus \{0\} = \sigma_x(BA) \setminus \{0\},$ where  $\sigma_x = \sigma_{asc}$  or  $\sigma_{dsc}$ .

*Proof.* In view of the fact that  $\operatorname{asc}(AB - \lambda) = \operatorname{asc}(BA - \lambda)$  and  $\operatorname{dsc}(AB - \lambda) = \operatorname{dsc}(BA - \lambda)$  for all  $A, B \in B(\mathcal{X})$  [5, Theorem 1], it will suffice to prove: (i)  $\operatorname{asc}(A - \lambda) = \operatorname{asc}(AB - \lambda) = \operatorname{asc}(B - \lambda)$ , and (ii)  $\operatorname{dsc}(A - \lambda) = \operatorname{dsc}(AB - \lambda) = \operatorname{dsc}(B - \lambda)$  for all  $\lambda \neq 0$ .

(i) Suppose that  $(B - \lambda)^n x = 0$  and  $(B - \lambda)^{n-1} x \neq 0$  for some  $(0 \neq) x \in \mathcal{X}$  and some integer  $n \geq 1$ . Then

$$0 = B(B - \lambda)^n x = (BA - \lambda)^n Bx \Longrightarrow Bx \in (BA - \lambda)^{-n}(0).$$

If  $(BA - \lambda)^{n-1}Bx = 0$ , then  $B(B - \lambda)^{n-1}x = 0$ , and hence

$$0 = (B - \lambda)^n x = B(B - \lambda)^{n-1} x - \lambda (B - \lambda)^{n-1} x \Longrightarrow (B - \lambda)^{n-1} x = 0.$$

This is a contradiction; hence  $\operatorname{asc}(AB - \lambda) = \operatorname{asc}(BA - \lambda) \leq \operatorname{asc}(B - \lambda)$ . Conversely, assume that  $(AB - \lambda)^n x = 0$  and  $(AB - \lambda)^{n-1} x \neq 0$  for some  $(0 \neq) x \in \mathcal{X}$  and some integer  $n \geq 1$ . Then

$$0 = B(AB - \lambda)^n = (B - \lambda)^n Bx \Longrightarrow Bx \in (B - \lambda)^{-n}(0).$$

If 
$$(B - \lambda)^{n-1}Bx = 0$$
, then  $B(AB - \lambda)^{n-1}x = 0$ , and hence

$$0 = (AB - \lambda)^n x = AB(AB - \lambda)^{n-1} - \lambda(AB - \lambda)^{n-1} x \Longrightarrow (AB - \lambda)^{n-1} x = 0.$$

This contradiction implies that  $\operatorname{asc}(BA - \lambda) \leq \operatorname{asc}(B - \lambda)$ . The proof of  $\operatorname{asc}(A - \lambda) = \operatorname{asc}(AB - \lambda)$  follows from a similar argument.

(*ii*) Suppose that  $y = (B - \lambda)^n x$  for some  $(0 \neq) x \in \mathcal{X}$  and integer  $n \geq 1$ , but y is not in the range of  $(B - \lambda)^{n+1}$ . Then  $By = (BA - \lambda)^n Bx$ , and so  $By \in (BA - \lambda)^n \mathcal{X}$ . If  $By \in (BA - \lambda)^{n+1} \mathcal{X}$ , then there exists a  $w \in \mathcal{X}$  such that

$$(BAB - \lambda^2)y = BA((BA - \lambda)^{n+1}w) - \lambda^2 y.$$

But then

$$\lambda^2 y = BA(BA - \lambda)^{n+1}w - (BAB - \lambda^2)y$$
  
=  $BA(BA - \lambda)^{n+1}w - (BAB - \lambda B)y - \lambda(B - \lambda)y$   
=  $(B - \lambda)^{n+1}BAw - B(B - \lambda)y - \lambda(B - \lambda)y$   
=  $(B - \lambda)^{n+1}\{BAw - Bx - \lambda x\},$ 

i.e.,  $y \in (B-\lambda)^{n+1}\mathcal{X}$  — a contradiction. Hence  $\operatorname{dsc}(BA-\lambda) = \operatorname{dsc}(AB-\lambda) \leq \operatorname{dsc}(B-\lambda)$ . Conversely, suppose that  $y = (BA-\lambda)^n x$  for some  $(0 \neq) x \in \mathcal{X}$  and integer  $n \geq 1$ , but y is not in the range of  $(BA-\lambda)^{n+1}$ . Then

$$BAy = (B - \lambda)^n BAx \Longrightarrow BAx \in (B - \lambda)^{\mathcal{X}}.$$

If  $BAx \in (B-\lambda)^{n+1}\mathcal{X}$ , then (upon arguing as above) there exists a  $w \in \mathcal{X}$  such that

$$\lambda^2 y = B(B-\lambda)^{n+1}w - (B^2A - \lambda BA)y - \lambda(BA - \lambda)y$$
  
=  $(BA - \lambda)^{n+1} \{Bw - BAx - \lambda x\},$ 

i.e.,  $y \in (BA - \lambda)^{n+1}\mathcal{X}$  — a contradiction. Hence  $\operatorname{dsc}(B - \lambda) \leq \operatorname{dsc}(BA - \lambda) = \operatorname{dsc}(AB - \lambda)$ . A similar argument proves  $\operatorname{dsc}(A - \lambda) = \operatorname{dsc}(AB - \lambda)$ .  $\Box$ 

The Drazin spectrum of  $T \in B(\mathcal{X})$  is the set  $\sigma_D(T) = \{\lambda \in C : \lambda \in \sigma_{\mathrm{asc}}(T) \cup \sigma_{\mathrm{dsc}}(T)\}$ . Theorem 2.10 shows that the operators A, B, AB and BA have the same non-zero Drazin spectrum. Recall, [12, Theorem 1], however that  $\sigma_D(ST) = \sigma_D(TS)$  for every  $S, T \in B(\mathcal{X})$ ; the following theorem shows that this equality extends to our operators A, B, AB and BA.

**Theorem 2.11.**  $\sigma_D(A) = \sigma_D(AB) = \sigma_D(BA) = \sigma_D(B).$ 

*Proof.* Evidently, 0 is in the spectrum of the operators A, B, AB and BA. The equations  $ABA = A^2$  and  $BAB = B^2$  imply that  $(AB)^2 = A^2B = AB^2$ . Recall that the Drazin spectrum is a regularity [11, Theorem 10, Page 195], and so satisfies the spectral mapping theorem for every function which is analytic on an open neighbourhood of, and non-constant on connected components of, the spectrum

Operator Equations  $ABA = A^2$  and  $BAB = B^2$ 

of the operator [11, Theorem 7, Page 52]. Thus, if  $0 \in \sigma_D(AB)$  (equivalently,  $0 \in \sigma_D(BA)$ ), then  $0 \in \sigma_D(A^2B)$  and  $\sigma_D(AB^2)$ . Since  $\sigma_D(ST) = \sigma_D(TS)$ for every  $S, T \in B(\mathcal{X}), \{\sigma_D(AB)\}^2 = \sigma_D((AB)^2) = \sigma_D(A^2B) = \sigma_D(ABA) = \sigma_D(A^2) = \{\sigma_D(A)\}^2 = \sigma_D(AB^2) = \sigma_D(BAB) = \sigma_D(B^2) = \{\sigma_D(B)\}^2$ . But then  $0 \in \sigma_D(A) \iff 0 \in \sigma_D(B) \iff 0 \in \sigma_D(AB)$ .  $\Box$ 

We note here that unlike the case of  $\lambda \neq 0$  (when  $A - \lambda$ ,  $B - \lambda$ ,  $AB - \lambda$  and  $BA - \lambda$  have the same Drazin index whenever  $\lambda \notin \sigma_D(A)$ ),  $0 = \lambda \notin \sigma_D(A)$  does not imply that the operators A, B, AB and BA have the same Drazin index [15].

### References

- P. Aiena, Fredholm and Local Spectral Theory with Applications to Multipliers, Kluwer, 2004.
- [2] E. Albrecht and R. D. Mehta, Some remarks on local spectral theory, J. Operator Theory 12 (1984), 285-317.
- [3] B. A. Barnes, Common operator properties of the linear operators RS and SR, Proc. Amer. Math. Soc. 126 (1998), 1055-1061.
- [4] C. Benhida and E. H. Zerouali, Local spectral theory of linear operators RS and SR, Integr. Equa. Op. Th. 54 (2006), 1-8.
- [5] J. J. Buoni and J. D. Faires, Ascent, descent, nullity and defect of products of operators, Indiana Univ. Math. J. 25 (1976), 703-707.
- [6] D. S. Djordjević and V. Rakočvić, *Lectures on Generalized Inverses*, Faculty of Science and Mathematics, University of Niš, 2008.
- [7] J. Eschmeier and M. Putinar, Bishop's condition (β) and rich extensions of linear operators, Indiana Univ. Math. J. 37 (1988), 325-348.
- [8] O. Bel Hadj Fredj, M. Burgos and M. Oudghiri, Ascent spectrum and essential ascent spectrum, Studia Math. 187 (2008), 59-73.
- [9] H. G. Heuser, *Functional Analysis*, John Wiley and Sons (1982).
- [10] K.B. Laursen and M.N. Neumann, Introduction to local spectral theory, Clarendon Press, Oxford, 2000.
- [11] V. Müller, Spectral Theory of Linear Operators, Operator Theory Advances and Applications, Volume 139, Birkhäuser Verlag, 2001.
- [12] V. Rakočević and Y. Wei, A weighted Drazin inverse and applications, Lin. Alg. Appl. 350 (2002), 25-39.
- [13] C. Schmoeger, On the operator equations  $ABA = A^2$  and  $BAB = B^2$ , Publ. De L'Inst. Math. (N.S.) **78(92)** (2005), 127-133.

- [14] C. Schmoeger, Common spectral properties of linear operators A and B such that  $ABA = A^2$  and  $BAB = B^2$ , Publ. De L'Inst. Math. (N.S.) **79(93)** (2006), 109-114.
- [15] C. Schmoeger, Drazin invertibility of products, Seminar LV, No. 26, 5pp. (1.6.2006).

Address

8 Redwood Grove, Northfield Avenue Ealing, London W5 4SZ, United Kingdom. *E-mail:* bpduggal@yahoo.co.uk